
�

� 6(5,(�=�3&���$8720$=,21(�',675,%8,7$����������
	���
�������������� ��


�

=�32:(5�±�7UDVIRUPDWRUL��������������9DF�

�

&DUDWWHULVWLFKH�JHQHUDOL�

�
7UDVIRUPDWRUL� PRGXODUL� SHU� DOLPHQWD]LRQH� VSHFLILFD� LQ� 9DF� SHU� L� PRGXOL� GHOOD�
VHULH�=�3&�H�=��'LVSRQLELOL�QHOOH�YHUVLRQL�

� =�32:(5�������9$�
� =�32:(5�������9$�
� =�32:(5�������9$��

�

6SHFLILFKH�WHFQLFKH�

3RWHQ]D�QRPLQDOH� ���9$��YHUVLRQL�D���PRGXOL�',1��
���9$��YHUVLRQL�D���PRGXOL�',1��

)UHTXHQ]D� ���+]��YHUVLRQH��������9$��
���+]��YHUVLRQH��������9$��
���±����+]��YHUVLRQH��������9$��

,QJUHVVR�8VFLWD� 0RUVHWWR�D�YLWH��YHUVLRQL����9$��
0RUVHWWR����$������9����SROL�SDVVR����PP�
�YHUVLRQH��������9$��

7HQVLRQH�SULPDULD�� ����9�±������

����9�±�������

&RUUHQWH� SULPDULD� D�
YXRWR�

���P$��YHUVLRQH��������9$��
���0$��YHUVLRQH��������9$��
���P$��YHUVLRQH��������9$��

7HQVLRQH� VHFRQGDULD��
YXRWR�

�����9�±������YHUVLRQL����9$��

�����9�±������YHUVLRQH����9$��

&RUUHQWH� VHFRQGDULD� D�
FDULFR�

�����$��YHUVLRQL����9$��
�����$��YHUVLRQH����9$��

7HQVLRQH� VHFRQGDULD� D�
FDULFR��

���9�±�����

,VRODPHQWR� WUD� SULPDULR�
H�VHFRQGDULR�

������9DF�
������9DF��YHUVLRQH��������9$��

*UDGR�GL�SURWH]LRQH� ,3����YHUVLRQH����9$��
,3����YHUVLRQL����9$��

3URWH]LRQH�WHUPLFD� 7HUPRIXVLELOH������&����$������9�

5RFFKHWWR���LVRODWRUH� �� 9HUVLRQH��������9$��(,��[����Q\ORQ�
��������ILEUD�YHWUR��8/��+%�

�� 9HUVLRQH�����������[����Q\ORQ������������
ILEUD�YHWUR��8/��+%��

�� 9HUVLRQH��������9$��(,��[����Q\ORQ�
��������ILEUD�YHWUR��8/��9��

1XFOHR� )HUURVLOLFLR�ODPLQDWR�����[����YHUVLRQL����9$��
��[���YHUVLRQH����9$���VS�������SHUGLWH�����:�.J�

$YYROJLPHQWL�SULPDULR�H�
VHFRQGDULR�

5DPH�VPDOWDWR�FRQ�UHVLQH�SROLXUHWDQLFKH�LQ�
FODVVH�)�

,PSUHJQDQWH� 9HUQLFH�SROLHVWHUH�

&LUFXLWR�VWDPSDWR� &(0�

'LPHQVLRQL� ��PRGXOL�',1��YHUVLRQL����9$��
��PRGXOL�',1��YHUVLRQH��������9$��

,QVWDOOD]LRQH�� 6X�JXLGD�',1����PP�

0DWHULDOH� 0DWHULDOH�WHUPRSODVWLFR�DXWRHVWLQJXHQWH��FODVVH�
9����

&XVWRGLD�� �� 9HUVLRQH��������9$��FRQWHQLWRUH�',1���
PRGXOL��Q\ORQ��������ILEUHD�YHWUR��8/��+%��

�� 9HUVLRQH��������9$��FRQWHQLWRUH�',1���
PRGXOL��$%6�WHUPRUHVLVWHQWH��8/��+%�

�� 9HUVLRQH��������9$��FRQWHQLWRUH�',1���
PRGXOL��3&�$%6��8/��9��

1RUPH�FRVWUXWWLYH� (1����������(1�����������
8/�������YHUVLRQH��������9$��

'LPHQVLRQL�PHFFDQLFKH�H�LQJRPEUL�

9HUVLRQL�D���PRGXOL�',1��=�32:(5�������9$��=�32:(5�������9$��

�
�

�

�

'LPHQVLRQL�PHFFDQLFKH�H�LQJRPEUL�

9HUVLRQL�D���PRGXOL�',1��=�32:(5�������9$��

�
�

�


